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Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.
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The figures in the margin indicate full marks.
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Answer from all the Sections as directed.
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Section - A
gug - H

(Objective Type Questions)

(Fegfe W)

1. State whether the following statements are ‘True’
or 'False’ : 2x10=20

Ffafian wudl & =1 g’ a1 ‘s’ fad
(@) Labour Economics is the study of Labour

Problems.
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(b) Growth of population increases the
composition of labour force.
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(c) Migration is not a problem of Indian labour,
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(d) Housewives are not included in labour force.
TfEfrET, st & effifea v @ §

(e) Labour market is a local market.
2 TR U T 1R 2 2 |

(f) Labour demand is derived.
#H T A e/ afferfi a2 |

\9} Higher wages is one of the determinant of
Labour productivity.
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() Malnutrition decreases the Labour
productivity.
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(i) Seasonal unemployment is not a typé of
unemployment.
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() Skill development is the latest measure to
control unemployment.
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Section - B
g —

(Short-answer Type Questions)

(v -3 w9 )
2. Answer any four questions of the following :
~. ox4 =20
frreaferfiaa o @ foreel =R oot & 3w 2

(@) Discuss the relationship of labour
economics with Psychology and Sociology.

o9 I w1 A v A % 9y
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(b) Write composition of Labour Force.

o9 7R <l w=E l fod |

(c) Differentiate between Labour Market and
Commadity Market.

o7 S U FE FTSR % 1= 371 T98 F |
(d) Write the consequences of Labour
Productivity Market.
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(e) Discuss the causes of unemployment.
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(Long-answer Type Questions)
(el -3w{1 weA)

Answer any three questions of the following :
10%3 = 30

Feferiaa 7 @ et dim ot & smd

- 3. Wirite the different methods of the study of Labour

+ Economics.
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4. What aré the factors responsible for labour force
participation rate ?
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5. What is Labour Market ? Write the necessary

, conditions for Perfect Labour Market.
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6. Discuss the determinants of Labour Productivity.
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7. What is Employment and Unemployment ?
Discuss the steps taken by the Government to
" control unemployment,
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